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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)

(i)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 3 questions in Section C, 2 questions in Section D and
2 questions in Section E.

Use of calculators is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

If the sum of all the elements of a 3 x 3 scalar matrix is 9, then the

product of all its elements is :
A O B) 9

C) 27 (D) 729
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2. AW f:R, > [- 5, =), f(x) = 9x2 + 6x — 5 G IRATNG &, &l R, Tt O
AT TEAT H =T R | Al f B

(A)  Thh!

(B) 3T=51qh

(C)  Weheh! T=sIch
(D) 9Tl Teheh! 3R 7 & 3T=BIch

—a b c
3 e | a -—b c =kabc%,?ﬁkwtﬂ'r[%:
b -c
A O B 1
< 2 (D) 4
|ﬂ+& H% x<-3
4. fx)=] -2x, I —3<x<3

6x+2, dIE x>3

ST ARHTINT e o STETdcdT o fagatl i 9 2 ¢

A 0 B 1

Cc) 2 (D) A

5. Hod fix) = x5 — 3x2 + 12x — 18 :

(A) RW @ g&am 2
(B) RW X 949 8
(C) RWAd it a¢fm 8 3 9 & R gremm 2

(D) (= oo, 0) W FRAR BTEUH 2
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2. Let f: R, —» [- 5, ) be defined as f(x) = 9x2 + 6x — 5, where R, is the set

of all non-negative real numbers. Then, fis :
(A) one-one

(B) onto

(C)  Dbijective

(D) neither one-one nor onto

—a b ¢
3. Iff, a -b c | = kabe, then the value of k is :
b -c
A O B) 1
< 2 (D) 4

|X|+3, if x<-3
4, The number of points of discontinuity of f(x) = ¢ —2x, if —3<x<3 is:
6x+2, if x>3

A 0 B) 1

Cc) 2 (D) infinite

5. The function f(x) = x3 — 3x2 + 12x — 18is :
(A)  strictly decreasing on R
(B)  strictly increasing on R
(C)  neither strictly increasing nor strictly decreasing on R

(D)  strictly decreasing on (— oo, 0)
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10.

/2

J' Sin X —CoS X dx W%:

1+sin xcos x
0

A m (B) IH (0)

/2

. 2
©) j 2sinx 5. ™ =
1+sinxcosx 4
0

3Adehel HHIHLT % = F(x, y) THETAE 3Taehel THIRE &1 8, e F(x, y)
2

(A) cos x—sin (Xj (B) Y
X X
2 2
© = Y (D)  cos? (Ej
Xy y

gl A mRwl & o b % fore, Arefelad sl § ¥ s a3 ol 2
- - - > -
A a.b>lallb] a
-> - -, -
C a.b<l|allp] a

fog (0, 1,2) 8 x-318 W S T X % U1G & FHawmh & :
A (1,0,0) B) (2,00

(C) (+5,0,0 (D) (0, 0,0)

Tk tRges Ty g & gt syl g g Iwarfise 8 shearan @ ¢
(A) U FUNEg & (B) U 35edd &
(C) U ulEg & (D) U gOTd &

65/2/1-12 Page 6 of 23




@ collegebatch con

NN\

10.

/2
J' Sin X —COoS X

. dx isequalto:
1+sin xcos x

0
A = (B) Zero (0)
/2 . 9
(© 2SMX gy o =
1+sinxcosx 4
0
The differential equation ? = F(x, y) will not be a homogeneous
X

differential equation, if F(x, y) is :

(A) cosx-—sin (Zj (B) y
X X
2 2
© = D)  cos? (Ej
Xy y

- -
For any two vectors a and b, which of the following statements is
always true ?

- - > - - > >
A) a.b>|allp] B) a.b=|allb]

- - > - - > >
©C a.b<lallb] M a.b<|allb]

The coordinates of the foot of the perpendicular drawn from the point
(0, 1, 2) on the x-axis are given by :

A (1,0,0) B) (2,0,0)

©) (+5,0,0) (D)  (0,0,0)

The common region determined by all the constraints of a linear
programming problem is called :

(A) an unbounded region (B) an optimal region

(C)  abounded region (D) afeasible region
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11.

12.

13.

14.

15.

16.

T foRel TN 4 E fopelt gfcest amfse S i T oo 7, df P(S|E) Sl & :
(A) PSNE) (B) PE)

€ 1 D) 0

IS A = [aj5] Th 3 x 3 TR &, MEH aj; =i 3j 7, al f=faRaad 4 & -
TAT 8 ?

(A aj1<0 (B) ajg+ag;=-6

(C) a13 > asgp (D) agy = 0

x wﬁ&w, tan~1 (x2) T FTHAIT & :

2x
(A) X (B)
1+x* 1+x4
2x 1
< - (D)
1+X4 1+X4

AR GHHRUT (y7)2 + (y)3 = x sin (y) i 904 :
(A) 12 B) 2%
(C) 3% (D) oy =& 2

T wfew, S fhafeni o+ k @G -k, eMi wew R, R

A& 2] ®) ]
i-k i+k
c) - D
(®) 5 (D) 7
Eec| XT_l —_y= 226+1 % THI T Giew & fesh-orumd @
A 2,-1,6 B) 2,1,6
© 21,3 D) 2,-1,3
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11.

12.

13.

14.

15.

16.

Let E be an event of a sample space S of an experiment, then P(S|E) =
(A) PSNE) (B) P(E)
(&) D) 0

If A = [ajj] be a 3 x 3 matrix, where ajj = i — 3j, then which of the following

is false ?
(A) a1 < 0 (B) a1g +agy =— 6
(C) ai3 > asy (D) ag) = 0

The derivative of tan=! (x2) w.r.t. x is :

2x
(A) X (B)
1+X4 1+X4
2x 1
(O) (D)
1+X4 1+X4

The degree of the differential equation (y”)2 + (y")2 = x sin (y) is :
A 1 B) 2
C) 3 (D) not defined

A JAN A AN
The unit vector perpendicular to both vectors i + k and i — k is:

A A
A 2j B ]

r 1 o1

1 - 1+
(®) (D)

J2 J2

Direction ratios of a vector parallel to line XT_l =—y= 2Z6+ 1 are
A 2,-1,6 B 2,1,6
© 2,1,3 D) 2,-1,3
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cosx —-sinx 0
17. IR F(x)= |sinx cosx 0| a9 [F&)]2=F(kx)®, a k1 44 3 :
0 0 1

A 1 B 2
C 0 D) -2

18. IR U W1 x-374 hl GTcHb TR o A1 30° T IV, y-31&7 hl GATcHe Q@M
o 1Y 120° T IV ST 7, O T8 T 2-3787 hl €T =1 o @1 S hior

A 8, IB @
(A) 90° (B) 120°
(C) 60° (D) 0°

v &I 19 377 20 3HIT T % STIIRT 597 & | § H97 15T 7T & o/7H T &1
SHUHYT (A) T G&R &1 T (R) GRT 371 1637 797 & | §7 Fo4] & &&1 I 419 157
7T $1s1 (A), (B), (C) 3 (D) 7 @ g7 Fifarg |

(A) AR (A) 3R Th (R) GHI Tl & AR Toh (R), A (A) HI Fal
ST LT § |

(B) MM (A) 3R T (R) GHI &l &, Tq e (R), A (A) i &
T g1 Ll 3 |

(C) AfRYE (A) W& 8, 9q @ (R) T4 ¢ |
(D)  3freeH (A) Terd B, 90 b (R) T8 R |

19. T (A): el Th @A AYE A % T, B’'AB T faww wmfim
T AT 2 |

7% (R) : T 11 g P fawm wufia o1egg searw, Afg P = — P.

20. FBIT(A): AP AR a4 I b FRCL a4 . b = b . a.
7% (R) : A YRR AR 4 Db B, a x b = b

-
= a

X

65/2/1-12 Page 10 of 23
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cosx —sinx 0
IfF(x)=|sinx cosx O] and [F(x)]2 = F(kx), then the value of k is :
0 0 1

A 1 B) 2
C 0 D) -2

If a line makes an angle of 30° with the positive direction of x-axis, 120°
with the positive direction of y-axis, then the angle which it makes with
the positive direction of z-axis is :

(A 90° (B) 120°
(C) 60° (D) 0°

Questions number 19 and 20 are Assertion and Reason based questions. Two

statements are given, one labelled Assertion (A) and the other labelled Reason
(R). Select the correct answer from the codes (A), (B), (C) and (D) as given below.

19.

20.

65/2/1-12 Page 11 of 23 P.T.O.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

Assertion (A) : For any symmetric matrix A, B’AB is a skew-symmetric

matrix.
Reason (R): A square matrix P is skew-symmetric if P’ = — P.
_ - e e T
Assertion (A) : For two non-zerovectors a and b, a . b =b . a
- e e T T S
Reason (R): For two non-zero vectors a and b, a x b = b x a
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39 GUE 4 37id TY-IRIT (VSA) TPR & 97 &, 570 F7d4% & 2 375 & |

21. () tan_l(— %J + COt_l(%) + tan_l{sin(— gﬂ %1 T 1T T |

HAYAT

(@) WM f(x) = sin~1(x2 — 4) T I1d F1d HIT | 35T afer oY 3ma HifS |

22. (%) Ffe fix)=|tan2x|®, d x= g T £/(x) T HH T HIFT |

AT

(@) e y=cosec(cot~! x) 7, a fag hifs \/1+x2 3—1 —x=0.

23. Zlﬁtb_cfﬁf(x)=x+§ (x £ 0) & TYFE I=aqd AR TIFE Feaw oM,

A M 3R m g0 ed 2, @ (M — m) &1 A J1d shifvg |

24, 4 HINT ;

4x
J‘ e —1dX

edX 11

25. 293U foh fix) = eX— e X + x — tan~1 x 3794 YId § TR 9<fq™ 7 |
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SECTION B

This section comprises very short answer (VSA) type questions of 2 marks each.

1 1 T
21. (a) Find the value of tan—1 (— —j + cot™1 (—j + tan~! {sin (— —H )
J3 J3 2

OR

(b)  Find the domain of the function f(x) = sin~1(x2 — 4). Also, find its
range.

22. (a) Iff(x)= |tan 2x|, then find the value of f(x) at x = g
OR

(b)  Ify = cosec(cot™! x), then prove that 1 + x? ;1_}7 —-x=0.

X

23. If M and m denote the local maximum and local minimum values of the

function f(x) = x + 1 (x # 0) respectively, find the value of (M — m).
X

24. Find:

4x
J‘ e4 1dX
e +1

25.  Show that f(x) = e¥ — e ¥ + x — tan™! x is strictly increasing in its domain.

65/2/1-12 Page 13 of 23 P.T.O.
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59 GUE § TY-FHIT (SA) FHR & 97 &, 578 Jcd% & 3 3% & |

26.

27.

28.

29.

30.

31.

(%)

(@)

(%)

(@)

dx
AT

a3y o6

L (|x])= X x20

x|

A 3Td hIf9T ;
2
J‘ /Z—XdX
2+ X
—2
T

WW:

dx

1
I x [(log x)2 — 3 log x — 4]

@ collegebatch con

__ ylogx
xlogy’

3TIheT HHIHLOT 2xy+y2—2x2ﬂ = 0 ! ol g 3a hifsg; T

dx
TMey=2,d9x=1% |
AT

Aqhdd GHIRUT y dx = (x + 2y2) dy hT SATUh BA T

d hifST |

fiqst ABC % fist % feufy wfew Al — § + k), BG4 — 37 — 5k) aik
C3i —4] —4k)¥ | FS ABC ¥ &¥ft ®101 31 Hifdr |

UTET o Tsh SIS bl Ueh G 3BT AT 2 | A X, Il & H9L Befohl I TS
TEATAT < UI-3T I <h LT &, Al X T TTRIehdT §e F1d hiterg |

WW:

65/2/1-12

J- x2 . sin~1 (x3/2) dx
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SECTION C

This section comprises short answer (SA) type questions of 3 marks each.

26. (a) If x = 08 3t and y = eSin 3t prove that ﬂ -_ Y logx )
dx xlogy

OR
(b)  Show that :

Slx)= =

,x#0
dx x|

27. (a) Evaluate :

2
J‘ /2 - X dx
2+Xx
-2
OR
(b) Find :

I 3 1 dx
x [(log x)* — 3 log x — 4]

28. (a) Find the particular solution of the differential equation given by
2xy + y2 — 2x2 ? =0;y =2,when x = 1.
X

OR
(b)  Find the general solution of the differential equation :

y dx = (x + 2y2) dy
A
29. The position vectors of vertices of A ABC are A(2/i\— 3\ + k),

B(}—35—5k)and C(3i — 4} — 4k ). Find all the angles of A ABC.

30. A pair of dice is thrown simultaneously. If X denotes the absolute
difference of the numbers appearing on top of the dice, then find the
probability distribution of X.

31. Find:

J' 2. sin-1 (x32) dx

65/2/1-12 Page 15 of 23 P.T.O.
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39 GUE 7 HHF-IRIT (LA) YR & J97 &, 1978 Jcd% & 5 3% & /

32. (%) =@isu 6 oM £: R o RS flx) = —2%_ 27 gieig 2, 9 af wheh 3

1+X2

3R T & TBEH 7 | WY E, Y= A Fd hifore frmd femn mn wem
f: R — A U AT<3TeHh B &l 1T |

AT

(@) N x N (F&f N Jhd 3T &1 9= §) | Th da9¢ R HH TR
e B

(a,b)R(c,d)oa—-c=b-d
TS fh R U Joardt ey 7 |

33. U W@ & iR {1 HINT S fEgan A2, 3, 4) 3R B4, 5, 8) HI faa™

T Y H AR @ sl e 100 2 Y0 2 220 e

x-15 y-29 z-5 %Wﬁl
3 8 -5

34. (%) ARGl HI YA Hieh, = THIHWI-{FhE &I &G HIWT :

2 3 10 4 6 5 6 9 20

—t+—+—=4, ———+—=1, —+=——-"—=2

X y v/ X y =z X Yy Z

GIE'TX,y,z;tO

AAAT
1 t : - 2 —sin 2
(@) ?TE{A: cot x %,?‘ﬁ %A’A‘lz Cf)SX sin X.
—cotx 1 sin 2X  —cos2X

35. IR YoM I § y2 = 4x, x = 1 3TN x-31& & TR & 1 &A% A; G Y& &
3N y2 = 4x,x = 4T FoR & T &TBA Ay G TS &, Al Ap : Ay A I |
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SECTION D

This section comprises long answer (LA) type questions of 5 marks each.

32.

33.

34.

35.

(a) Show that a function f : R —» R defined by f(x) = is neither

1+X2

one-one nor onto. Further, find set A so that the given function
f: R > A becomes an onto function.

OR

(b) A relation R is defined on N x N (where N is the set of natural
numbers) as :
(a,b)R(c,d)oa—-c=b-d

Show that R is an equivalence relation.

Find the equation of the line which bisects the line segment

joining points A(2, 3, 4) and B(4, 5, 8) and is perpendicular to the lines
x—-8 y+19 z-10 x—15 y-29 z-5
= = and = = .
3 -16 7 3 8 -5

(a)  Solve the following system of equations, using matrices :
2 3 10 4 6 5 6 9 20
—+—+

=4, 224221, 242 -T2
X y Z X y Z X y Z

where x,y, z # 0

OR

1

—cotx

(b) IfAz{

t —cos2 —sin 2
col X}, show that A’A~1 ={ oS ox St X}

sin 2x  —cos2x

If A; denotes the area of region bounded by y2 = 4x, x = 1 and x-axis
in the first quadrant and A9 denotes the area of region bounded by
y2 = 4%, x = 4, find A; : A,.

65/2/1-12 Page 17 of 23 P.T.O.
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39 GG § 3 JHU 77T TERT I97 &, 574 Jedeh & 4 37 & |

36.

Th{0T HAETAA - 1

SIS € 399 sl @I d¢ ATl @ N TR qAT YH | =601 3R 91y Theg
& JRUMHEEEY 9 <hl o<d H 3 Jdl & | Siefeh digd TAT-TAT Tfd |
T U J1ATEAT Toh UgAd 8, U AW WA W 80 km/h ¥ FH hl T
W A T e B |

24 (/100 km)

]
(1]

b
(=]

—_
o

el
o

[}

<o

0

20 40 60 80 100 120 140 160
Tfd (km/h)

$S TS o qgd 394 I @I F (1/100 km) 3R T V (km/h) & =9 gey

V2 vV
F—%—Z+14W%€|TW%|
ST AT % AR W, i Tl % I A
()  F 31d shifSe, S€feh V = 40 km/h. 1
(ii) g—f,amaﬁﬁm 1
(ifi) (F) g T V I1q T 99 399 @9d F = 2t @ | 2

eI
(i) (@) Vfd ¥ 600 km <hl I HE & AT TTEwIH 399 <HI 7T 14
ﬁﬁqﬁamg—f]=—o-01%| 2
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SECTION E

This section comprises 3 case study based questions of 4 marks each.

Case Study -1

36. Overspeeding increases fuel consumption and decreases fuel economy as
a result of tyre rolling friction and air resistance. While vehicles reach
optimal fuel economy at different speeds, fuel mileage usually decreases
rapidly at speeds above 80 km/h.

25

20—* : —wep tongtem | 0
F 7 ki JU—
g 5 : ’ 11T
S * .
=10 . —t

+

é 5 e . s v ‘

g 20 40 60 80 100 120 140 160

Speed (km/h)

The relation between fuel consumption F (/100 km) and speed V (km/h)
2
under some constraints is given as F = Y- _ v + 14.
500 4

On the basis of the above information, answer the following questions :

1) Find F, when V = 40 km/h. 1
dF
ii Find —. 1
(i1) in v
(iii) (a)  Find the speed V for which fuel consumption F is minimum. 2
OR

(iii)) (b)  Find the quantity of fuel required to travel 600 km at the

dF
d V at which — =-0-01. 2
speed V at whic v

65/2/1-12 Page 19 of 23 P.T.O.
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ThIT HAETAT - 2

37. ToasX o1 WEHT QU I § TS YU HIg o &9 H AR @l & | IR i
M 3IfId dI¥eh a7 UG i o ol WEY 3N Aqfaid AER 1 ITeH
T HEEYUl 8 | Igfcid TER gH AHfdeh &9 & it The T@ar g 3R i *

I8 W I TGET <l @ |

(I 4 — 6 GUh)

TSR/ T AT -59/GUh
o\ TR — 5 g/ GUH
WY

(I 2 — 3 TGUh)
e azan/ @ 3t - 30 g/ G
‘ #7 3rft — 100 g / GTH

.\u’*v .\, (4 -5 GU*)
’3 100 g / U

AN 9

ALk i (10 —15 GT)
Qi,_,_:._? p = M.,. — 309/@“75

X+y=6 ‘~A
4x +5y=28 x+2y=10

3Pid-1 FHId-2

3x+y=8

T IAER [oRINS & YR o @rE 9819, $8 X (x kg) 3R &8 Y (y kg), A
U T 16/kg 3N T 20/kg 1 T W 3UTSY &, H I AER h! AN i HA
HT A& B | sFaEt gRI fTd e & emmehfa-2 o femmn men R |

STeh el % STUR W, T gl o 3w i

()  Ahfa-2 & 37 w¥fi el w1 gt i fafae s fow o e &
& fAuifa e | 2

(i) AR T AT B Z = 16x + 20y I =IJdH HET &I, A x AR y I
A @ HINC 58 0 AFa =Aa| 81 | 98 JHd gQ T QU e sierg
& | =Ia9 ANTd 99d g, giad arra | $1d I | 2
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Case Study - 2

37. The month of September is celebrated as the Rashtriya Poshan Maah
across the country. Following a healthy and well-balanced diet is crucial
in order to supply the body with the proper nutrients it needs. A balanced

diet also keeps us mentally fit and promotes improved level of energy.

(4 — 6 Portions Each)

Fats & Sugar / ° Fats — 5 g/portion
= “.»_" Sugar - 5 g/portion
-« %N
sy > (2 — 3 Portions Each)
Pulses & Dairy /&% »)ﬁ% Pulses — 30 g/portion
o ‘ @ - 0% Dairy — 100 g/portion

Fruits & 5

Vegetables ﬂ
< K i

Cereals &

_ (10 — 15 Portions)
Millets - @ 30 g/portion
(< luﬂ«. ~ o

(4 — 5 Portions)
100 g/portion

x+y—6 ’~A
4x +5y=28 x+2y=10

3x+y=28

Figure-1 Figure-2

A dietician wishes to minimize the cost of a diet involving two types of

foods, food X (x kg) and food Y (y kg) which are available at the rate of
T 16/kg and < 20/kg respectively. The feasible region satisfying the

constraints is shown in Figure-2.

On the basis of the above information, answer the following questions :

i) Identify and write all the constraints which determine the given

feasible region in Figure-2. 2

(i1)  If the objective is to minimize cost Z = 16x + 20y, find the values of
x and y at which cost is minimum. Also, find minimum cost
assuming that minimum cost is possible for the given unbounded

region. 2
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Th0T 3TETTAT - 3

38. I UREgd TohU 7T BRI shl TE&AT i SR dlei AR Jcg & AN o AR T

HTYT SITAT &, <1 §AT8 SIgTSl 379 e INag- 1 ded gierd d1ed 7 |

frec fehle a8 T 8a1s SI@S o gHeAd & ! JTRiehdl 0-00001% 7 |
T AAMT, 95% AW g Tob famm goe & &g Siifad s=1 @ 8 | 79
ST b geleat 9 g9 <t feufa # afl el Shfoa == 9d 8 |

A AT B 521 8 T Tk fom™ sl goied g8 @ 3R Ey 98 91 2 T g
T TR B8 B | T A 98 e 7 e IEf Am o 91 Sfifed 99 91 @ |

3T HIT o YR W, F Jot & I e

(i)  BaTS B o GUSAIEA = B ol TTRIhdT 1A hIT | 1

(i) P(A|Ep +P(A | Ey) FTd shifST | 1

(iii) (%) P(A) G HIfT | 2
HAAAT

(i) (@) PEy|A) d HIWT | 2
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Case Study -3

38. Airplanes are by far the safest mode of transportation when the number
of transported passengers are measured against personal injuries and
fatality totals.

Previous records state that the probability of an airplane crash is
0-:00001%. Further, there are 95% chances that there will be survivors
after a plane crash. Assume that in case of no crash, all travellers
survive.

Let E; be the event that there is a plane crash and Ey be the event that

there is no crash. Let A be the event that passengers survive after the
journey.

On the basis of the above information, answer the following questions :

(1) Find the probability that the airplane will not crash. 1

(ii)) Find P(A | Eq) + P(A | E9). 1

(iii) (a)  Find P(A). 2
OR

(iii)) (b)  Find P(E, | A). 2
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